
 

 

 

 

 

 

 

 

 

 

 

 

 
 

l- es le monde très simplifié Il 

 

    

ne 

 

 

sav-  ait 

pas   le 

rois, est  

   grand 

pour 

  lui 

  Jean 

   agit 

      ici                oui 

que, 

                               oui 

        Voici 

      cela 

Voici 



 

 

 
 

 

 

 

 

 

 

 

 



                               
     Acceptable                      Moins acceptable                                 Moins acceptable 
      « pour vos enfants » = expansion de adj.    « pour vos enfants » = expansion de SN                           « pour vos enfants » = expansion de SV 

 

 

  
Meilleure solution   

valence double 


